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QUESTION 1

Which two types of routes may be advertised via EBGP? (Choose two.) 

A. Routes that do not originate in the local AS and are learned by OSPF. 

B. Routes that originate on the local router and are advertised into OSPF. 

C. Routes that are transiting the local router and are BGP learned routes. 

D. Routes that originate on the local router and are injected using a route map. 

Correct Answer: CD 

 

QUESTION 2

You are running OSPF between two ERX Edge Routers across an OC-12c link with HDLC encapsulation. How many
designated routers are present for this link? 

A. 0 

B. 1 

C. 2 

D. 3 

Correct Answer: A 

 

QUESTION 3

What are the maximum number of classifiers per policy group? 

A. 100 

B. 128 

C. 256 

D. 512 

Correct Answer: D 

 

QUESTION 4

What are two advantages of BGP route aggregation? (Choose two.) 

A. It can reduce routing table size. 
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B. It allows for optimal route selection. 

C. It can reduce the number of routing updates. 

D. It always shortens the attribute list for the aggregated route. 

Correct Answer: AC 

 

QUESTION 5

If all OSPF routers on a broadcast network have the same OSPF priority, which parameter is used to determine the new
BDR at the time of a DR failure? 

A. area ID 

B. router ID 

C. loopback address 

D. IP address of interface on broadcast network 

Correct Answer: B 
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